Postman Pat
Pat is an effective postman who delivers mail around the local district together with his cat.  He earns $10 per hour and always gets $30 extra for food and petrol.  Copy and complete the table for Pat’s wages below:

	# Hours (x)
	0
	1
	2
	3
	4

	Wages (y)
	
	
	
	
	


Now plot this information on a graph:

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	


  


1) What is the equation of the line?

2) What does the y-intercept represent?

3) What does the gradient represent?

4) Use the graph to find how much Pat will earn after 8 hours

5) If Pat works 8 hours a day, 5 days a week, calculate how much he earns in 1 week
One day Pat got talking with his black and white cat and together they decided he needed a pay rise.  So he went to his boss and they agreed that he would now be paid $15 per hour but would not be paid any money for food and petrol.  

6) Copy and complete the table for Pat’s new wages scheme

	# Hours (x)
	0
	1
	2
	3
	4

	Wages (y)
	
	
	
	
	


7) Plot this information on the graph

8) What is the equation of the new line?

9) What is the y-intercept?

10) What is the gradient?

11) Use the graph to find how much Pat will now earn after 8 hours
12) If Pat works for 2 hours, is he better off with his new pay scheme or his old pay scheme, and by how much?

13) How many hours does Pat have to work for before he is earning more than before in his new pay scheme?
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